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POLYNOMIALS

lllustrations

1. Find the zeroes of the polynomial z>~3 and verify the

relationship between the zeroes and the coefficients.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_T9Sln35IGnRg

2. Find a quadratic polynomial, the sum and product of

whose zeroes are - 3 and 2 respectively.

o Watch Video Solution

3. Find the zeroes of the polynomial
f(z) = 2* — 922 — 16z + 144, if its two zeroes are equal in

magnitude but opposite in sing.

o Watch Video Solution

4.1f divisor is 2 + 1 — z and dividend is * + 322 + 42 — 5

, then find the remainder.

o Watch Video Solution



https://dl.doubtnut.com/l/_xCvJzGDuf9gM
https://dl.doubtnut.com/l/_8YRiL1YBwBRc
https://dl.doubtnut.com/l/_xGLNkh7LPmx4

5. Divide 6z° — 262 — 21 + z? by — 7 + 3z.

o Watch Video Solution

6. If f(x) is divided by g(x), then find remainder. When

flz) =z* — 5z +6,g9(x) = — x> +1

o Watch Video Solution

7.1f the remainder on division of z® + 2% + kz — 8 by x-4 is

16, then find the quotient and the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_xGLNkh7LPmx4
https://dl.doubtnut.com/l/_dNrdGsQ7dGKK
https://dl.doubtnut.com/l/_NPfrsFzUgKcA
https://dl.doubtnut.com/l/_iEgrMoKYOaTw

Solved Examples

1. f 2z=4/3 is a zero of the polynomial

f(z) = 62° — 112* + kx — 20, then find the value of k.

° Watch Video Solution

2. If p(y) =9® — 3yt + 22 + 6 and
qy) =y -y +20* +y—6, find p(y) +q(y) and

p(y) — q(y).

° Watch Video Solution

3.Find the zerose of the quadratic polynomial z* + 7z + 10

and verify the relationship between the zeroes and the


https://dl.doubtnut.com/l/_Zh5QW6n3oMgO
https://dl.doubtnut.com/l/_FiMmThUAzr6R
https://dl.doubtnut.com/l/_r37JBDcFCQYB

coefficients.

o Watch Video Solution

4. Verify that 3, — 1, — 1/3 are the zeroes of the cubic
polynomial p(z) = 3z° — 52® — 11z — 3 and then verify

the relationship between the zeroes and the coeffcients.

o Watch Video Solution

5.Find the zeroes of the quadratic polynomial 2z* + 2 = 15
and and verify a relationship between the zeroes and its

coefficients.

o Watch Video Solution



https://dl.doubtnut.com/l/_r37JBDcFCQYB
https://dl.doubtnut.com/l/_c3RGRwr5iuI5
https://dl.doubtnut.com/l/_hOlyUsFQRjaR
https://dl.doubtnut.com/l/_BPDnPdpyzaue

6. Verify that the numbers given along the side of the cubic
polynomial are its zeroes. Also verify the relationship
between the zeroes and the coefficients.

3 + 6z +1lz +6, —2, —3, — 1

° Watch Video Solution

Ncert Section Exercise 2 1

1. The graphs of y = p(x) are given in the below figures, for

some polynomials p(x). Find the number of zeroes of p(x), in


https://dl.doubtnut.com/l/_BPDnPdpyzaue
https://dl.doubtnut.com/l/_M7nHuTBu4A1l

each case.

o Watch Video Solution

Ncert Section Exercise 2 2



https://dl.doubtnut.com/l/_M7nHuTBu4A1l

1. Find the zeroes of the following quadratic polynomials and
verify the relationship between the zeroes and the

coefficients 2 — 2z — 8

o Watch Video Solution

2. Find the zeroes of the following quadratic polynomials
and verify the relationship between the zeroes and the

coefficients 4s> — 4s + 1

© Wwatch video solution

3. Find the zeroes of the following quadratic polynomials
and verify the relationship between the zeroes and the

coefficients 62> — 3 — Tz


https://dl.doubtnut.com/l/_TDI7NabMUG8l
https://dl.doubtnut.com/l/_FZaAA5r9oDld
https://dl.doubtnut.com/l/_J2aE2pTYkf8E

o Watch Video Solution

4. Find the zeroes of the following quadratic polynomials
and verify the relationship between the zeroes and the

coefficients 4u? + 8Su

° Watch Video Solution

5. Find the zeroes of the following quadratic polynomials
and verify the relationship between the zeroes and the

coefficients t2 — 15

o Watch Video Solution



https://dl.doubtnut.com/l/_J2aE2pTYkf8E
https://dl.doubtnut.com/l/_sQKClcFjuoJO
https://dl.doubtnut.com/l/_PXhdRqey8icr

6. Find the zeroes of the following quadratic polynomials
and verify the relationship between the zeroes and the

coefficients 3z2 — z — 4

o Watch Video Solution

7. Find a quadratic polynomial each with the given numbers

as sum and product of its zeroes respectively.

1/4, — 1

o Watch Video Solution

8. Find a quadratic polynomial each with the given numbers

as sum and product of its zeroes respectively.

V2,1/3


https://dl.doubtnut.com/l/_gpfZO8IDTdKy
https://dl.doubtnut.com/l/_P6gawJtfCeok
https://dl.doubtnut.com/l/_cF99gAaPlKbS

° Watch Video Solution

9. Find a quadratic polynomial each with the given numbers

as sum and product of its zeroes respectively.

0, /5

o Watch Video Solution

10. Find a quadratic polynomial each with the given numbers
as sum and product of its zeroes respectively.

1,1

o Watch Video Solution



https://dl.doubtnut.com/l/_cF99gAaPlKbS
https://dl.doubtnut.com/l/_iUC65MdrqGGO
https://dl.doubtnut.com/l/_9SWu88UONru3

11. Find a quadratic polynomial each with the given numbers
as sum and product of its zeroes respectively.

~1/4,1/4

o Watch Video Solution

12. Find a quadratic polynomial each with the given numbers
as sum and product of its zeroes respectively.

4]

o Watch Video Solution

Ncert Section Exercise 2 3



https://dl.doubtnut.com/l/_15vWT2GIBL24
https://dl.doubtnut.com/l/_lCuAQKBWIpvf

1. Divide the polynomial p(x) by the polynomial g(x) and find
the quotient and remainder in each of the following :

p(z) = z° — 32* + 5z — 3, g(z) = z* — 2

o Watch Video Solution

2. Divide the polynomial p(x) by the polynomial g(x) and find
the quotient and remainder in each of the following :

p(z) =2* =32 + 4z +5,9(x) = 2> +1 -z

o Watch Video Solution

3. Divide the polynomial p(x) by the polynomial g(x) and find

the quotient and remainder in each of the following :

p(z) = z* — 5z + 6,g9(z) = 2 — 2°


https://dl.doubtnut.com/l/_tOT962IAc522
https://dl.doubtnut.com/l/_OL13Y3dNT3Po
https://dl.doubtnut.com/l/_j4BJBoouBhbc

o Watch Video Solution

4. Check whether the first polynomial is a factor of the
second polynomial by dividing the second polynomial by the

first polynomial :t* — 3, 2t* + 3t> — 2t — 9¢t — 12

° Watch Video Solution

5. Check whether the first polynomial is a factor of the
second polynomial by dividing the second polynomial by the

first polynomial :z? + 3z + 1, 3z* + 52 — 72? + 2z + 2
poly

o Watch Video Solution



https://dl.doubtnut.com/l/_j4BJBoouBhbc
https://dl.doubtnut.com/l/_GnELWeoioGii
https://dl.doubtnut.com/l/_bT0iK40TbPcq

6. Check whether the first polynomial is a factor of the
second polynomial by dividing the second polynomial by the

first polynomial :z® — 3z + 1, 2° — 42® + 2 + 3z + 1
y

o Watch Video Solution

7. Obtain all other zeroes of 3z* + 623 — 222 — 10z — 5, if

two of its zeroes are A / — and — A /

o Watch Video Solution

8.0n dividing (:1:3 — 3z +x + 2) by a polynomial g(x), the
quotient and remainder are (x-2) and (-2x+4) respectively.

Find g(x).

| o |


https://dl.doubtnut.com/l/_JCKgqjJMRKSi
https://dl.doubtnut.com/l/_mmYuNMieh9Qx
https://dl.doubtnut.com/l/_5bAwmLKiruoN

[ W Watch Video Solution ]

9. Give examples of polynomials p(x), g(x), 9(x) and r(x), which
satisfy the division algorithm and

deg p(x) = deg q(x)

° Watch Video Solution

10. Give examples of polynomials p(x), g(x), 9(x) and r(x),
which satisfy the division algorithm and

deg q(x)= deg r(x)

o Watch Video Solution



https://dl.doubtnut.com/l/_5bAwmLKiruoN
https://dl.doubtnut.com/l/_Ft8HfdDNyxfm
https://dl.doubtnut.com/l/_P014E2VlZSEY

11. Give examples of polynomials p(x), g(x), 9(x) and r(x),
which satisfy the division algorithm and

deg r(x)=0

o Watch Video Solution

Ncert Section Exercise 2 4

1. Verify that the numbers given alongside of the cubic

polynomials below are their zeroes. Also verify the
relationship between the zeroes and the coefficients in each

case:

2z° +x? —bxr +2,1/2,1, — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_2jPl0zsDI1oJ
https://dl.doubtnut.com/l/_QJ2gzWIN3sfE

2. Verify that the numbers given alongside of the cubic
polynomials below are their zeroes. Also verify the
relationship between the zeroes and the coefficients in each
case:

3 —4x? + 52 —2,2,1,1

° Watch Video Solution

3.Find a cubic polynomial with the sum, sum of the products
of its zeros taken two at a time, and product of its zeros as

2, — 7, — l4respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_AZHri2ciYdYN
https://dl.doubtnut.com/l/_uG4VoqVtEKUW

4. If the zeroes of the polynomial z® — 32+ z + 1 are

a\ \ b\ a,\ a\ +\ b,findaandb.

o Watch Video Solution

5. If two zeros of the polynomial
f(z) = z* — 62> — 262> + 138z — 35 are 2+ /3 , find

other zeros.

o Watch Video Solution

6. If the polynomial z* — 6z® + 162% — 25 + 10 is divided
by another polynomial z? — 2z + k, the remainder comes

out to be (x-a). Find k and a.

. Y l


https://dl.doubtnut.com/l/_Rgxd6DyeLsIA
https://dl.doubtnut.com/l/_sDoK3377gh10
https://dl.doubtnut.com/l/_qTOVASpvaYxS

| W vvatch viaeo solution

Exercise Multiple Choice Questions Level 1

1. Which of the following is not a polynomial?

A /3x* —2,/3+3

B.—x° — bz — —x —1
2 \/§
1
Czx+ —
T

D.5z% — 3z + /2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qTOVASpvaYxS
https://dl.doubtnut.com/l/_qHeAfl8EwjUo

2.1f p(y) = 3y* — 5y + y* + 8, then p(-1) will be

A2
B.15
C.17

D. —17

Answer: C

o Watch Video Solution

3. Degree of polynomial 3* — 2y* — V3y+ = is

A1/2

B.2


https://dl.doubtnut.com/l/_cVehRbyYIuZh
https://dl.doubtnut.com/l/_uFaOJRKnEhYU

C.3

D.4

Answer:

o Watch Video Solution

4. Polynomials az® + 322 —3 and2z® — 5z +a when

divided by (x-4) leave the same remainder. Find the value of

Al


https://dl.doubtnut.com/l/_uFaOJRKnEhYU
https://dl.doubtnut.com/l/_iCUyEszUETlb

Answer:

o Watch Video Solution

5. The sum and product of the zeroes of a quadratic
polynomial are 2 and - 15 respectively. The quadratic
polynomial is

A x? — 2z + 15

B.z2 — 2z — 15

C.z2+ 2z —15
D.z2 + 2z + 15
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iCUyEszUETlb
https://dl.doubtnut.com/l/_qbQXdfSAxCdG

5
6. One zero of the quadratic polynomial 22% — 8z — m is 3

; determine the other zero.

A2
"3

Answer:

o Watch Video Solution

7. If a and B are the zeros of the quadratic polynomial

1 1
f(z) =z* —x —4,ﬁndtheva|ueofa + 3 —af.


https://dl.doubtnut.com/l/_qbQXdfSAxCdG
https://dl.doubtnut.com/l/_ZAxq2VBiDS6J
https://dl.doubtnut.com/l/_oPp7PWVS3BmH

C. 4

D.15

Answer:

o Watch Video Solution

8 If a,B8,7v are the zeros

2z° + 2% — 13z + 6 then afy=?

A3
B.—3
c 1
C2

of

the

polynomial


https://dl.doubtnut.com/l/_oPp7PWVS3BmH
https://dl.doubtnut.com/l/_9LCBDsEEbDP9

—13

Answer:

o Watch Video Solution

9. If a, B, be the zeros of the polynomial p(x) such that

(a+B+7) =3, (aB+ By +ra) =

then p(x) =7

Az + 322 — 10z + 24
B. x> + 3z% + 10z — 24
C.x® — 322 — 10z +24

D. None of these

Answer:

— 10 and afy = — 24


https://dl.doubtnut.com/l/_9LCBDsEEbDP9
https://dl.doubtnut.com/l/_1xNwSxx47iZ8

° Watch Video Solution

10. The value of k such that the quadratic polynomial
z? — (k + 6)z + 2(2k + 1) has sum of the zeroes as half of

their product, is

A2

B.3

D.5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1xNwSxx47iZ8
https://dl.doubtnut.com/l/_AuwQPCflW5yy

1. If « and B are the zeros of the quadratic polynomial
f(t) = t* — 4t + 3, find the value of a*8° + a®5* .

A. 104

B. 108

C. 12

D.5

Answer:

° Watch Video Solution

12 If the polynomials 2z°+ az®+3z -5 and
3 + 22 — 4z + a leave the same remainder when divided

by x — 2, find the value of a.


https://dl.doubtnut.com/l/_AVXE2dJ5QtFi
https://dl.doubtnut.com/l/_mNmUfENWT7wl

A2

Answer:

° Watch Video Solution

13. One of the factors of (a,2 — b2) (02 — d2) — 4abced is

A.ac — bd + be + ad
B.ac — bd + bc — ad
C. cannot be determined

D. None of these


https://dl.doubtnut.com/l/_mNmUfENWT7wl
https://dl.doubtnut.com/l/_07vUEg3txzVj

Answer:

° Watch Video Solution

14. If one zero of the polynomial
f(z) = (K* + 4)z® + 16z + 4k is reciprocal of the other,

then k is equal to

A2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_07vUEg3txzVj
https://dl.doubtnut.com/l/_FzIfo5ruPpdp

5. If «, 8 are the zeros of the polynomial
f(z) = z* — p(z + 1) — ¢ such that (a +1)(8+1) =0,

thenc = (a) 1(b)0(c) —1(d) 2

Al

B.O

D.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FzIfo5ruPpdp
https://dl.doubtnut.com/l/_qka4ojlASJCM

16. If the sum of squares of zeros of the polynomial
x? — 8z + kis 40, find the value of k.

A.10

B.12

C.14

D.16

Answer:

° Watch Video Solution

17. The graph of y = x® — 4z cuts x-axis at (-2,0), (0,0) and

(2,0). The zeroes of 3 — 4z are


https://dl.doubtnut.com/l/_mdXP0jgDIi6k
https://dl.doubtnut.com/l/_hs2p37ZvfrTj

A.0,0,0

B.—2,2,2

C.—2,0,2

D.—2, —2,2
Answer:

° Watch Video Solution

18. The graph of the polynomial p(x) cuts the x-axis at 2
places and touches it at 4 places. The number of zeroes of
p(x) is

A2

B.6


https://dl.doubtnut.com/l/_hs2p37ZvfrTj
https://dl.doubtnut.com/l/_4go7LdFBpG8s

C.4

D.8

Answer:

o Watch Video Solution

19. If the sum of the zeros of the quadratic polynomial
f(t) = kt* + 2t + 3k is equal to their product, find the
value of k-

A —2/3

B.2/3

C.1/3

D.—1/3


https://dl.doubtnut.com/l/_4go7LdFBpG8s
https://dl.doubtnut.com/l/_dXuwSzcRq86T

Answer:

° Watch Video Solution

20. The zeroes of the quadratic

100z2 + 50z + 99 are

A. both negative

B. both positive

C. one positive, one negative

D. can't say

Answer:

polynomial

o Watch Video Solution



https://dl.doubtnut.com/l/_dXuwSzcRq86T
https://dl.doubtnut.com/l/_wbDqmYoVBDCk
https://dl.doubtnut.com/l/_RHvJUTT1GLuP

2. If «o,B,7 are the zeroes of the polynomial

f(z) =22° + 62> —42 +9, find the value of

1+1+1
aff By o

A.2/3
B.1/3
C.4/3

D. zero

Answer:

o Watch Video Solution

22. If aandB ar the zeros of the polynomial

f(z) = * — 5z + ksuch that « — 8 = 1, find the value of


https://dl.doubtnut.com/l/_RHvJUTT1GLuP
https://dl.doubtnut.com/l/_GFEu7P24tEgn

AaB =6
B.a’ 4+ 8% =13
C. k=6

D. All of these

Answer:

o Watch Video Solution

23. If the polynomial 6z* + 823 + 1722 + 21z + 7 is divided
by another polynomial 322 4 4z + 1, the remainder comes

out tobe az + b, find aandb.

A. a=2


https://dl.doubtnut.com/l/_GFEu7P24tEgn
https://dl.doubtnut.com/l/_CSmrJWSdhSSx

B. a=1

C. b=1

D. b=3

Answer:

o Watch Video Solution

24. If o, be the zeroes of the quadratic polynomial
f(z) = 2 + px + 45 and (o — B)? = 144, then p is equal
to

Ap= £12

B.p= £16

C.p= +18


https://dl.doubtnut.com/l/_CSmrJWSdhSSx
https://dl.doubtnut.com/l/_hxmBkNNZpU8R

D.p= +14

Answer:

o Watch Video Solution

25. If a,B,y are the =zeroes of the polynomial

f(z) = 2* — 52% — 2z + 24 such that aff = 12, then

Aa+B=T

Ba—f= *£1

D. All of these

Answer: D



https://dl.doubtnut.com/l/_hxmBkNNZpU8R
https://dl.doubtnut.com/l/_yBCWKnppJbZM

{ ™ Vvvaldn vidco >0I1ution ]

26. The graph of y = p(x) is given below. Find the number of

zeroes of p(x).

lllq'
T 4
FA 4
. f I '-.ll__-"
T - -+ m -
i
v,
A1l
B.2
C.3
D. All of these

Answer:


https://dl.doubtnut.com/l/_yBCWKnppJbZM
https://dl.doubtnut.com/l/_6yQx48tjyv32

° Watch Video Solution

27. If (x+1) is a factor of 2z + az? + 2bz + 1, then find the
value of a and b given that 2a-3b=4.

A1l

B.2

C.3

D. All of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6yQx48tjyv32
https://dl.doubtnut.com/l/_zehjkGgPovNH

28. Which of the following graphs has more than three

distinct real roots?
|§:—¢h4'..
A F
B.
C. "
D F

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zUb1pUkmJRug
https://dl.doubtnut.com/l/_cYeTwu4y23nr

29. If two of the zeroes of the polynomial

3 3
p(w) — 52* — 52% — 3322 + 3z + 18 are \/E and — 5

find the other two zeroes.
A. 3,2
B.—3,2
C.3, —2

D.—3, —2

Answer:

o Watch Video Solution

30. Find the value of k such that the equation

z? — (k + 6)x + 2(2k — 1) = 0 has sum of the roots equal


https://dl.doubtnut.com/l/_cYeTwu4y23nr
https://dl.doubtnut.com/l/_cNq0wt9H74We

to half of their product :

A—2/T7
B.4/7
C.2/7

D.O

Answer:

o Watch Video Solution

31. If @ and B are the zeroes of the quadratic polynomial
z? — (k + 6)x + 2(2k + 1) find a polynomial whose zeroes

are2a — land 26 — 1

A x? + 4z + 11


https://dl.doubtnut.com/l/_cNq0wt9H74We
https://dl.doubtnut.com/l/_2uMcB92hVso5

B.z2 — 4z — 11

C.x? — 4z — 11

D.z? — 4z + 11

Answer:

o Watch Video Solution

32. If sum of the squares of zeroes of the quadratic
polynomial p(z) = z* — 10z + 2k is 28, find the value of k.
A.18
B.14
C.16

D. 20


https://dl.doubtnut.com/l/_2uMcB92hVso5
https://dl.doubtnut.com/l/_FPtPv0I0KQH5

Answer:

° Watch Video Solution

33. If two zeroes of the polynomial
f(z) = z° — 3x* — 12z + 36 are 2,/3 and —2,/3 then find
its third zero.

A2

B.4

C.1

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FPtPv0I0KQH5
https://dl.doubtnut.com/l/_SQgwWu1PLpXM

34.The graph of a polynomial is given below.

Find the algebraic expression for this curve.

Az? 42z —3

B.z2 + 2z + 3

Cx?—-2z—3

D.z2 — 2z + 3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SQgwWu1PLpXM
https://dl.doubtnut.com/l/_HKzpgzpiH91W

1
35. For the polynomial p(z) = E:c2 — 3z + 2, find the

difference of zeroes.

A +2,/3
B.+2,/5

C.+2/2

D. +3,/5

Answer:

° Watch Video Solution

Exercise Multiple Choice Questions Level 2


https://dl.doubtnut.com/l/_DaI3a31hm369

1. The expression that should be subtracted from
4z* — 223 — 62® + = — 5 so that it may be exactly divisible
by 2z° + x — 2is

A—3x —5

B.3z — 5

C.—3x +5

D.3z + 5

Answer:

° Watch Video Solution

2. If two zeroes of the polynomial z* + z* — 922 — 3z + 18

are \/3 and — /3, then the other zeroes are


https://dl.doubtnut.com/l/_0g4tpK7d3zXe
https://dl.doubtnut.com/l/_kLQtVrlRzeLJ

Answer:

o Watch Video Solution

3. If aandfB are the zeros of the quadratic polynomial
f(z) = kx® + 42 + 4 such that o® + > =24 , find the
value of k-

A. k=1

B. k=-1


https://dl.doubtnut.com/l/_kLQtVrlRzeLJ
https://dl.doubtnut.com/l/_U55vVGLbXUtq

Ck=2/3

D. both (b) and (c)

Answer:

o Watch Video Solution

4. If o and B are the zeros of the quadratic polynomial

p(z) = 4z* — 5z — 1, find the value of &?8 + af?.

5
2 2 9
Aa“ B+ aB” = 16
33
2 2 _ 99
B.a” + 3 16
Cl—l—l— 5
o ﬁ_

D. All of these


https://dl.doubtnut.com/l/_U55vVGLbXUtq
https://dl.doubtnut.com/l/_hTw8dcfL38h4

Answer:

° Watch Video Solution

5. If the polynomial f(z) = ax® + bz — c is divisible by the

1
polynomial g(z) = 22 + bz + c,then ab = (a) 1 (b) = (c)

1
—1(d) - =
C

A c = 2b
B. ab=1
C.ac=2b

D. All of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hTw8dcfL38h4
https://dl.doubtnut.com/l/_UO9nziKiM3Ab

6. If the quadratic polynomial p(x) is divisible by x - 4 and 2 is

a zero of p(x) then find the polynomial p(x).

Az + 6x + 8

B.z?> — 6z + 8

Cxl4+z+8

D.z> —z + 8

Answer:

o Watch Video Solution

7.1f a and § are the zeroes of f(z) = az® + bx + ¢, then

2


https://dl.doubtnut.com/l/_UO9nziKiM3Ab
https://dl.doubtnut.com/l/_H30ohh6S85yW
https://dl.doubtnut.com/l/_YlTc8A9uqBaQ

b2 — 2ac

a?c?
(b2 — 2ac) — ac
B. 22
c (b2 — 2ac)2 — 2a2c?

a2c?

D. None of these

Answer:

o Watch Video Solution

8. Find the value of a and b so that the polynomial
p(z) =z + 23 + 822 —ax +b is exactly divisible by
z? — 1.

A. a=1,b=9

B. a=1,b=9


https://dl.doubtnut.com/l/_YlTc8A9uqBaQ
https://dl.doubtnut.com/l/_HwfRXlkCMVDf

C. a=2, b=1

D. a=-2, b=-1

Answer:

o Watch Video Solution

9. On dividing 2 — 22 +x —2 by a polynomial g(x), the
quotient and remainder were x - 2 and - 2x + 4 respectively.
Find g(x).

Az’ +3

B.2% + 3z

Cz?—3

D.z2 — 3z


https://dl.doubtnut.com/l/_HwfRXlkCMVDf
https://dl.doubtnut.com/l/_sN4s4zt4QfZN

Answer:

o Watch Video Solution

10. If (x + a) is a factor of two polynomials 2 + pz + g and
z? + mx + n, then ais equal to

A.(n+4q)/(m —p)

B.(n —¢q)/(m — p)

C.(n—q)/(m+p)

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sN4s4zt4QfZN
https://dl.doubtnut.com/l/_OL2Y6EbPbBlF
https://dl.doubtnut.com/l/_nDpHdqwr3ieg

11. The quotient obtained on dividing 8z* — 22% + 6z — 7

by 2x+1is 42> + pz® — gz + 3 then value of (g-p) is

AO

C.2

D.4

Answer:

o Watch Video Solution

12. State 'T' for true and 'F' for false and select the correct
option.

l. If a quadratic polynomial f(x) is a square of a linear


https://dl.doubtnut.com/l/_nDpHdqwr3ieg
https://dl.doubtnut.com/l/_k2nnlgZvbRhs

polynomial, then its two zeroes are coincident.

Il. If a quadratic polynomial f(x) is not factorisable into linear
factors, then it has no real zero.

. If graph of quadratic polynomial az® + bz + ¢ cuts
positive direction of y-axis, then the sign of c is positive.

IV. If fourth degree polynomial is divided by a quadratic

polynomial, then the degree of the remainder is 2.

I 11 IIT IV
A.

F F T T
B.I 11 II1 1V
T T T F
C.I II III 1V
F T T F
D.I I II1 1V
T T T T
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_k2nnlgZvbRhs

13. What must be subtracted from the polynomial
f(z) = 2* + 22% — 132® — 12z + 21 so that the resulting
polynomial is exactly divisible by z* — 42 + 3?

A. 2x-1

B. 2x+1

C. 2x+3

D. 2x-3

Answer:

° Watch Video Solution

14. If a,B,7 are the zeroes of the polynomial
+ ! + !
af By o

z3 + px2 + gqx + r, then find


https://dl.doubtnut.com/l/_16KQKmZDK2T6
https://dl.doubtnut.com/l/_5c2r2pkyP8AL

Answer:

o Watch Video Solution

15. If «a,B8 are the zeroes of the polynomial

o~ p(z +1) — g then (a + 1)(5 + 1) =

A g-1

C.q


https://dl.doubtnut.com/l/_5c2r2pkyP8AL
https://dl.doubtnut.com/l/_9ByfVJmM7JDN

D. 1+q

Answer:

o Watch Video Solution

Exercise Match The Following

1. List-ll gives zeroes (not necessary all) of the polynomials

given in List-l, match them correctly.

List-1 List-N
(P) 4-x in 7
(Q) x* - 2 2y -2
(RY bxf =371 (3 0
(%) -x+7 4 372

A.P-1,0-2,R-3,S-4



https://dl.doubtnut.com/l/_9ByfVJmM7JDN
https://dl.doubtnut.com/l/_PrtnBEd7aOHv

B. P-2, Q-4, R-3, S-1

C. P-2,Q-3,R-4, S5-1

D.P-1,Q-3, R-4,S-2

Answer:

o Watch Video Solution

2.1f o and B are the zeroes of the polynomial 22 — 4z + 5

then match the value of List-l with that of List-Il.

List-1 List-11
|
l:P.:' __l 1|_I| — dy
o A .
() {ex - Py 2 —
e |
1 1 -2
S B 3 —
T u]
5 %P w 2
B a 5


https://dl.doubtnut.com/l/_PrtnBEd7aOHv
https://dl.doubtnut.com/l/_cyAyF6y34HXp

A.P-4,0-1,R-2,S-3

B. P-4, Q-2,R-1,S-3

C.P-1,Q-2,R-3,5-4

D. P-1,Q-4,R-2, S-3

Answer:

o Watch Video Solution

Exercise Assertion Reason Type Directions

1. Assertion : 2 + 5z°/2 + 7z2 not a polynomial.

Reason : The highest exponent of a variable in the

polynomial is called its degree.


https://dl.doubtnut.com/l/_cyAyF6y34HXp
https://dl.doubtnut.com/l/_RmZa6XhGt3J1

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:

° Watch Video Solution

2. Assertion : The zeroes of the polynomial

5z® — 20z* + 5z + 5022 — 20z — 40 are 1 and 3.


https://dl.doubtnut.com/l/_RmZa6XhGt3J1
https://dl.doubtnut.com/l/_yXImu7T8cfD5

Reason : x=r is a zero of a polynomial p(x), if it is a solution of

the equation P(x) = 0.

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:

° Watch Video Solution

3. Factorize: Sa? — 8 — -2
. Fac OI’IZG.2JZ T 2



https://dl.doubtnut.com/l/_yXImu7T8cfD5
https://dl.doubtnut.com/l/_EKXqquxFObEN

o Watch Video Solution

4. Assertion: 5z° + 9zt + 823 + 42 + 1 is a biquadratic
polynomial.
Reason : A polynomial of degree 4 is a biquadratic
polynomial.
A. If both assertion and reason are true and reason is the
correct explanation of assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:


https://dl.doubtnut.com/l/_EKXqquxFObEN
https://dl.doubtnut.com/l/_mM3ISSCqK633

o Watch Video Solution

5. Assertion : If o and Bn are the zeroes of the polynomial

> 4 90 — 15 then — + — is —
x x — en — 4+ — is —.
a (B 15
Reason : If a and Bn are the zeroes of a quadratic
. 2 b C
polynomial az® 4+ bz 4+ cthena + 8 = — - and a8 = —

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_mM3ISSCqK633
https://dl.doubtnut.com/l/_fpUiPM3aIsHN

Answer: A

° Watch Video Solution

Exercise Comprehension Type Passage |

1. Sum of zeroes = o+ f = — 8 and product of zeroes

=af =6

1 1
A polynomial whose zeroes are, — and — is
a

A 6z% + 8z +1
B.6z2 — 8z — 1
C.6z2 — 4z + 6

D. '6x"(2)-8x+1


https://dl.doubtnut.com/l/_fpUiPM3aIsHN
https://dl.doubtnut.com/l/_D6wSKsOveHx0

Answer:

° Watch Video Solution

2. Sum of zeros a+ 8 = —8 and product of zeros
1 1
a - B = 6 Form a polynomial whose zeros are —and —is
o2 E
Az® — 13z + 1

B.36z2 — 52z + 1

Cx?+13z+9

D.36x> + 52z — 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_D6wSKsOveHx0
https://dl.doubtnut.com/l/_cIu02uduUDEE
https://dl.doubtnut.com/l/_5Jl2x8MJvDzo

3. If sum of zeroes of a polynomial = a + 8 = — 8 and
product of zeroes = aff = 6, then form a polynomial

whose zeroes are (a — ) and (a + 3).

Az — (8 +2y/10)z + 16,/10
B.z? — (8 + 2\/E):13 — 164/10
C.z” + (8 £24/10)z + 164/10

D.z? + (8 + 2\/E)x — 164/10

Answer:

o Watch Video Solution

Exercise Comprehension Type Passage li



https://dl.doubtnut.com/l/_5Jl2x8MJvDzo

1. Ifo and S be the zeros of the polynomial az? + bz + c,

then the value of | < + E
I5} «

Answer:

o Watch Video Solution

2. If & and A be the zeroes of the polynomial az? + bz + c,

then the value of


https://dl.doubtnut.com/l/_Nb0jf4S9qJfM
https://dl.doubtnut.com/l/_fkXZzWT1b4ap

1 1 .
J—FFIS

o Watch Video Solution

3.If a and S be the zeroes of the polynomial az?® + bz + c,

then the value of

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fkXZzWT1b4ap
https://dl.doubtnut.com/l/_8s6xDdod8tAp

Exercise Subjective Problems Very Short Answer Type

1. Find the zeroes of the quadratic polynomial 9z> = 5.

o Watch Video Solution

2. Find the sum and product of the zeroes of the following

quadratic polynomial > — (¢ — ab)z — abc

° Watch Video Solution

3. One zero of the quadratic polynomial 8z? — 18z — m is

5 Find the value of m.

I o Watch Video Solution


https://dl.doubtnut.com/l/_8s6xDdod8tAp
https://dl.doubtnut.com/l/_UOZPQgy6bHZ2
https://dl.doubtnut.com/l/_SnGBdPbofFGG
https://dl.doubtnut.com/l/_iRCheADttFCd

4. If =2 and x =0 are roots ofthe polynomial

f(z) = 22® — 522 + ax + b. Find the values of aand b

o Watch Video Solution

5.If f(z) = x2 — 2z — 3,then find the zeroes of f(x).

° Watch Video Solution

6. Divide 32> + 2% + 2z + 5by 1 + 2z + 22

o Watch Video Solution



https://dl.doubtnut.com/l/_iRCheADttFCd
https://dl.doubtnut.com/l/_ya6vbv5dlnj6
https://dl.doubtnut.com/l/_ds2pZvMT975w
https://dl.doubtnut.com/l/_H0FOaV2jwZDP

7.Show that x=2 is a zero of 2z° + 2> — 7z — 6.

o Watch Video Solution

8. If f(x) = 2z° — 132® + 17z + 12, then find the value of

f(-2) and f(3).

° Watch Video Solution

9. f(z) = £* — 10z + 25.Find the zeroes of f(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_CTKYtv6qg897
https://dl.doubtnut.com/l/_fwqrEk7iLtIu
https://dl.doubtnut.com/l/_V7P0lCbYhaBs

10. Show that x+1 and 2x3 are factors of

22% — 922 + z + 12.

o Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. Find the zeroes of the quadratic polynomial

62> — 12z + 6 and verify the relation between the zeroes

and its coefficients.

° Watch Video Solution



https://dl.doubtnut.com/l/_iZNGf5CeLOXs
https://dl.doubtnut.com/l/_I6nmeE23QnAo

2. If a and [ be the zeroes of the polynomial

1 1
p(z) = z° — 5z + 2, find the value of - + E — 3ap.

o Watch Video Solution

3. Check whether (mz — 11:1:—|—28) is a factor of the

polynomial z* — 12z% 4 392 — 28.

o Watch Video Solution

4. Find a quadratic polynomial whose sum of zeroes and

product of zeroes are respectively

1 1 1

(i) 13 (ii) 2, 3

o Watch Video Solution



https://dl.doubtnut.com/l/_MRmilDGvtgUS
https://dl.doubtnut.com/l/_BBzbWs4EB2vT
https://dl.doubtnut.com/l/_OS4tCLVFCO4v

5. Find a cubic polynomial with the sum of its zeroes, sum of
the products of its zeroes taken two at a time and product

of its zeroes as 2,-5 and - 11 respectively.

o Watch Video Solution

6. Find the cubic polynomial with the sum of its zeroes, sum
of the products of its zeroes taken two at a time and

product of its zeroes as 0, -7 and - 6 respectively.

o Watch Video Solution

7. Find a and B if x+1 and x+2 are factors of

p(z) = 2 + 32 — 2azx + B.


https://dl.doubtnut.com/l/_OS4tCLVFCO4v
https://dl.doubtnut.com/l/_o03hLXBCTowA
https://dl.doubtnut.com/l/_rvGZU7yLIdrv
https://dl.doubtnut.com/l/_lOVaV7RrU5dj

° Watch Video Solution

8. If ax® + bz + ¢ has a factor of the form z? + pz + 1,

2

show that a® — ¢ = ab.

° Watch Video Solution

9. Find all zeroes of the polynomial z* — 52% — 162 + 80, if

two zeroes of the polynomial are 4 and - 4.

° Watch Video Solution

10. Obtain all the zeroes of z° — 7x -+ 6 if one of its zeroes

is1

[ - |


https://dl.doubtnut.com/l/_lOVaV7RrU5dj
https://dl.doubtnut.com/l/_4rCLEZRgwnJV
https://dl.doubtnut.com/l/_5mPCOco2du2O
https://dl.doubtnut.com/l/_WlfyUovLJUFQ

l & Watch Video Solution ]

Exercise Subjective Problems Long Answer Type

1. Which of the following correspond to the graph to a linear
or a quadratic polynomial and find the number of zeroes of

polynomial.

-l|:||. '.J.L

1 — 'S .
0 *O >

i o S



https://dl.doubtnut.com/l/_WlfyUovLJUFQ
https://dl.doubtnut.com/l/_A5JUuJGJ7wy7
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o Watch Video Solution

2.If p and q are zeroes of 2x® 4 2(m + n)x +m? + n?,

form the quadratic polynomial whose zeroes are (p + q)2

and (p — q)°.

| a WA _ L vl ~_ .. |


https://dl.doubtnut.com/l/_A5JUuJGJ7wy7
https://dl.doubtnut.com/l/_GJrVexZCQ2z6

L T Vvvallll viucCo o0IULIVII ]

3. If a and B are the zeroes of the polynomial

22 + 4z +3 =0 find the polynomial whose zeroes are

(0]

B
1+ —andl
g andlt g

o Watch Video Solution

4.0Obtain all the zeroes of z* + 223 — 722 — 8x + 12, if two

of its zeroes are 2 and -2.

° Watch Video Solution

Exercise Subjective Problems Integer Numerical Value Type



https://dl.doubtnut.com/l/_GJrVexZCQ2z6
https://dl.doubtnut.com/l/_vueIgh6ImYz3
https://dl.doubtnut.com/l/_52Ma7GsL3gyO

1. Twice the product of the zeroes of the polynomial

2322 — 26z + 161 is 14p. Find p.

o Watch Video Solution

2. Zeroes of a quadratic polynomial are in the ratio 2 : 3 and

their sum is 15. The product of zeroes of this polynomial is

o Watch Video Solution

3. The graph of a polynomial p(x) cuts the x-axis at two
places and touches it at the three places. Find the number of

zeroes of p(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_iNEo1ru74sMl
https://dl.doubtnut.com/l/_8hoWZa0FxObF
https://dl.doubtnut.com/l/_EVv7j0WEantQ

4. The sum and product of zeroes of p(z) = 63z> — Tz — 9

are S and P respectively. Find the value of 27 S + 14P.

o Watch Video Solution

5.If a, 3, 7y are zeroes of cubic polynomial z3 + 5z — 2, then

find the value of a® + 82 + 3.

o Watch Video Solution

6.1f p(z) = 2z> — 3z + 4, then value of p(-1).

o Watch Video Solution



https://dl.doubtnut.com/l/_EVv7j0WEantQ
https://dl.doubtnut.com/l/_YXWv5xiC47Vj
https://dl.doubtnut.com/l/_vAximgnWpEkY
https://dl.doubtnut.com/l/_NGBYlFeBKHXL

7. Find the value of m, if (x2) is a factor of

223 — 522 + 5z — m.

o Watch Video Solution

8. If the polynomial 6z* + 82> + 172% + 25z — 9 is divided
by another polynomial 3z> + 4z + 1, the remainder comes

out to be a+bx, find (a + b)>.

o Watch Video Solution

9. A polynomial of degree 7 is divided by a polynomial of

degree 4. Degree of the quotient is

o Watch Video Solution



https://dl.doubtnut.com/l/_9jbg1ZZL7uVC
https://dl.doubtnut.com/l/_Wfc3lOX1l0bq
https://dl.doubtnut.com/l/_wxSQSw7zzOHs

10. If 2* + 23 + 8z + ax + b is divisible by 2% + 1, then

find 5a+2b.

o Watch Video Solution

Olympiad Hots Corner

1. The number of zeroes for the given graph is

&y

['L“]r""'\,

L 0
ﬁ':"“ S{E{;I !

Wy



https://dl.doubtnut.com/l/_wxSQSw7zzOHs
https://dl.doubtnut.com/l/_Ef5NmvpmiMmJ
https://dl.doubtnut.com/l/_CvEc1Kh5o1Q5

A3

B.2

C.4

D.1

Answer:

° Watch Video Solution

2. If one of the zeroes of the cubic polynomial

23 + ax? + bz + c is -1, then the product of the other two

zeroes is

A. b-a+1

B. b-a-1



https://dl.doubtnut.com/l/_CvEc1Kh5o1Q5
https://dl.doubtnut.com/l/_bq24JUMyd3tN

C. a-b+1

D. a-b-1

Answer:

o Watch Video Solution

3. The sum of the remainders obtained when
{a:3 + (k + 8)z + k} is divided by (z — 2) or when it is

divided by (z + 1) is zero. Find the value of k.

A3
B. —2
C.—4

D.8


https://dl.doubtnut.com/l/_bq24JUMyd3tN
https://dl.doubtnut.com/l/_m2Bt5M5ieeXa

Answer:

o Watch Video Solution

4.let p(z) = x> + bz + ¢, where b and c are integers. If p(x)
is a factor of both z* + 6z + 25 and 3z* + 42> 4 28z + 5
, find the value of p(1).

A0

B.1

C.2

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_m2Bt5M5ieeXa
https://dl.doubtnut.com/l/_zceccMeE92No

5. If a and B are the zeros of the quadratic polynomial
p(s) = 3s® — 6s + 4 : find the value of
%+§+2<é+%> +308.
A5
B.8

C.10/3

D.1/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zceccMeE92No
https://dl.doubtnut.com/l/_ufVw3EBHeTQb

6. If a and B are the zeros of the quadratic polynomial

f(z) = x* — 3z — 2, find a quadratic polynomial whose
1 q 1
an :
200 + B 28+«

Zeros are

A 2022 + 92 + 1

B.20z2 — 9z — 1

C.20z2 — 9z + 1

D.20z> + 9z — 1

Answer:

o Watch Video Solution

7. Which of the following is not the graph of a quadratic

polynomial?


https://dl.doubtnut.com/l/_hK9YFvIE3dUd
https://dl.doubtnut.com/l/_SIbm6m9pCySF
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A.
Ay
+ j-,r;;,ﬁﬁ >
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B.
—
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& I:F:; 1
C. e

Answer: C': D

f


https://dl.doubtnut.com/l/_SIbm6m9pCySF

° Watch Video Solution

8. Find the value of k, for which the polynomial

p(z) = 1% + 22% + ks exaclty divisible by (x+1).

Al

B.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SIbm6m9pCySF
https://dl.doubtnut.com/l/_Luywo1LhtBQs

9.1f a, B be the zeroes of the polynomial 2z + 5z + k such
5 5 21
thata® 4+ 8% + aff = T,then k=?

A3

Answer: k=2

° Watch Video Solution

10. H.C.F. and L.C.M. of two polynomials are x and (w2 + Bw),

respectively. If one polynomial is (w2 + 3ac), then second will

be


https://dl.doubtnut.com/l/_ebhdd8Q8zkxk
https://dl.doubtnut.com/l/_8HQbSN8kUc8W

A. (:c2 + 3:13)

B. (:132 — 9:13)
C. (:1:2 + 9:1:)
D.x

Answer:

o Watch Video Solution

N. f «a, B,y are the zeros of the polynomial

f(z) = az® + bz? + cx + d , then i—|-i_|_l
a B~ d
c c c
(b)E(C)E(d)E


https://dl.doubtnut.com/l/_8HQbSN8kUc8W
https://dl.doubtnut.com/l/_bkyuq7aYyVwI

d
c
D.— —
a
Answer:

o Watch Video Solution

12. What should be added in the polynomial

x> — 6z® + 11z + 8 so that it is completely divisible by

z2 — 3z + 27

A2

C.14

D.—14


https://dl.doubtnut.com/l/_bkyuq7aYyVwI
https://dl.doubtnut.com/l/_PL2L1y6WdbaC

Answer:

o Watch Video Solution

13. For which values of a and b, the zeroes of
q(z) = x° + 22% 4 a are also the zeroes of the polynomial
p(z) = 2° — z* — 42® + 32® + 3z + b? Which zeores of

p(z) are not the zeroes of p(z)?

D. 1,2

Answer:



https://dl.doubtnut.com/l/_PL2L1y6WdbaC
https://dl.doubtnut.com/l/_BzGJvvKYEWnP

l € Watch Video Solution I

14. If the zeroes of the polynomial
f(z) = 2* — az® + bz + ¢ are in arithmetic progression,
then

A.a® 4 9ab + 27c = 0

B.2a*> — 9ab — 27c = 0

C.3a® + 9ab — 27c = 0

D.a® — 9ab + 27c = 0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_BzGJvvKYEWnP
https://dl.doubtnut.com/l/_MoEGGiKqVGJN

15. If the polynomial 8z* + 142® — 222 + pz + q is exactly
divisible by 4z® + 3z — 2, then the values of p and q
respectively are

A.2and O

B.—7and?2

C.5and —3

D.4and —1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_28wZlikru4J2

